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The box plots shows the daily oLial JS&N A Cadajlall (63 (3gtia ziiags
attendance at a fithess club below. SABLY (ool (B agall jgianl)
Choose the appropriate measure to -2 SHaS Chaasl aliall wladall SR

describe the center of the

distribution.

Fitness Club Attendance
asll >U Lo

1 3 1 2 | 2 1 3 1 2 ) | L 1
l' . l . l . l 1 l L] ] L] '

50 60 70 80 90 100 110

buwsll oo gy jeill 3505 o g cuwliall yulisall
70 = lawell

65 = Q1 JgVl &u)ll

80 = Q3 SJLI gu)ll

35 =90-55 = s.all



! If the area of a parallelogram is 596 yd? g3l ), . 4

AR 96 yd? and its height is 8 yd . @ B yd s
/ Find its base. i

— b ???
1 8yd
b
.-
Aol s)hlgio JSadl -
(b glai)Ml g A d>luall ) wa Slubhsall - 2




The dot plot graphed below shows a o e Azasall blaiy P I g PP [ =3
= 6-days high temperatures recorded L At 3 ALl 6 5aal dlaal) aliel) 5yl
in a city. Sihadl Silaal saall caa)

Find the range of the temperatures.

Temperatures §,,=Jl Gl

L " 1 . | | L L L .
- T T 1 ] T ! ! T e

24 25 26 27 28 29 30 31 32 33 34

X
X X ).( X X

DA yauolg dac Sl Gu el - 9 Sl

34 - 26 = 8 ——Jll



The table below shows the number
of daily visitors to a website on the

internet. Find the mean absolute

deviation of the data.

The number of visitors gl aac

46

58 50

S50

Slball welh=iNl Blugis

-

A

s adgal g il sas sl Jgaatl /g

callaall cdlaiy) Jacugia amgl . Liags ad SV
A LT

e 2318 0B Ge 3 0ataY GIISAN 1,09 1a D350 Ay

GNP L DR [ BSR4 { BT S ]
BRI Y e Y SEalN e Sat i N
-1 S04 [P PE-CVT L3P DI (I SULA->4 | R =1 B B S |

ElmIl daduziall =

a4

46 + 58 +50 + 50 _ g1

-é—gm‘éléb#fl-:}—HG —51|=5 8L |58 - 51|= 7

ST SN Bt DA Tl I L ST =

50 - 51| =1

5 +7+1+1

50 - 51| =1
=3.5

4



nnnnnnn

" The rectangular prism shown has 72 cﬂ@@@hﬂ@
a volume of 72 cubic inches. Tosdiall S laS;) gila A a€a ding,

i What is the height of the prism? > = e
L LLb.LuJ.o__ J _9..u.l.l.o

3in.-l_

dibiuell jsuitiall a2z §ils @aRius

1w h

V= 72
h=_V _ = 4in
h =

Iw 3X6
4 in
<~ 0567281097



_——
—~

2

The lengths, in feet, of various S A g B gkl
bridges are: 1,000:300:180: 250: 200:

(1,000)300.180. 250: 200. b A e g s

|dentify any outlier in the data.
SV OLLl pud e ldusy &as sl Saxll

1,000 = asjloio dasd
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The amount of Calories for a serving Adma 4aS)gal Ayl Glhd) JaEa ae ol
_ of certain fruits is displayed. Find the aaagl) 2o
median.

Ay ) jadl G ) d3

Number of Calories

I o A T v I E—
100 150 200 250 300 350 400 450 500
250 = buwgll

400= 500-100 = ol
150 = JoVl g,
350 = SJLI gyl



! How many players have ages less

than 28 years?

Frequency

ON & O @

Ages of Players on a Baseball Team
1

2
10

20-23 24-27 28-31 32-35 36-39

Age (yrs)

e adslaci JE Gl GuedU) sac aS

Tlac 28

J,5!

1
10

SN &> O

N 3200 3 Omee MW lesh

20-23

24-27

28-31
(yrs) yead)

32-35 36-39

e\ 28 P 5y 2 9D o8

6 +11 =17

e

-
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Find the mode for the age of staff. &L gall el Jigiall as gl

49,25,30,49, 36,49, 25. 5,30{49 36.5




The grades of 7 students in maths Teetd Gl yl) Gladals CBUa 7 cilas

test are: ) 89,67,45,59,68,94,75
~ 89,67,45,59,68,94,75 sl Jaa gl A f

Find the median of the data.

A8 29 or 6 Coip o E v g
/5,59,}/&,89,
68 = L’y
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 Find the surface area of a pyramid Bac iy aygd Allaa) zdacal) dablive 224

with a base area of 111 square oL eagall lasse 1ia 111 &5 lgiala

meters shown below.

8aclally dmslal a>9V1 3> Luo goame L ® alaml &5 Lo
20m

@l Al — %p@

16 m

B=111
| = 20

p=16+16+16
p =48

adla=>¥l alawll a>luwo = 12_(48)(20) +111

alazdl gl >lus = 111 + —(48)(20)= 591




The table shows the number of pets

each student has in the class.

Construct a dot plot of the data.

Number of Pets
AadY) cllgeall sxe

© D0 @
© DD

2
@l

SLSUI

O e -

X X
X X X X i : 3
O 1 2 3 4 %
2

A ABIY) Sllgaall sse ragy (S (Jsanl)
cdeadl) Bl S s
Sl dsanall blE Unkadia o 50

S



Use the graph below to find the Adaall gladl Jaowa alay slial J<atl PRE N

perimeter of the outlined section of Slblaay) (Sha A dagall ddsaall e
the park shown on the coordinate
o f(4,12) e (11,12)

h (0,9)deitts wir = c (16,9)

a (0,0) = : b (16,0)
ab = 16-0=16 ef =11-4 =7
bc = 9-0 =9 fg = 12-9 =3
cd = 16-11 =5 gh = 4-0 =4

12-9 =3 ha =9-0 =9

de
16+9+5+3+7+3+4+9 = bu=odll

56
< -0567281097 ~—

=
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Find the volume of the pyramid T gall asgl) aaa aa )
= shown.

bl olws (BB /|
B = 6X6= 36
10 = glas)Vl g h

L
V—?Bh

V = ;_ (36)(10)—~ VvV =120cm
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- Find the surface area of the

rectangular prism shaped.
- g P pe

3in.

5 In.
4 in.

S.A = 2(lh) + 2(lw) + 2(hw)

S.A = 2(5X3) + 2(5X4) + 2(3X4)



V=lwh

= (6) (4) (5)
V=120m
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 Use the graph below to find the area daloce alay oliaf Ji PR
i 10 cm

A

12cm

A= (1102 h )

_ (12 +10 ¢,
A= (2£522)(6)

A=66cm’
< .0567281097

A yoeie duds g JSKAJ
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Use the graph below to find the area Silsia dalosa alaly alial i) PRE
= of the Parallelogram. N o

e/

10 cm

A =Dbh
A = (10)(5)

A =50cm



ok o gL palall il bl
aapully @llgply @l gaally st 25 ay

NTTWIRVENY
call i AL gl g galyull il il el g
il QU g el sl i mlnl L

dn)g}wjo;\zpam )ﬂ@/h\?
10567281097




